Name: K@, 2/1/2018 Trig — Test 4 Review

1) Given the triangle above, find the missing values of the triangle for each situation.

Given: a B y ! a b c
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by| 35.1¢ 50° 71.9° 6 8 & ¢
c) 100° _5‘(/"’ . 30° 5 5. 5 2,54
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2) Fill in the following table for the angles given.

6 — a) —30° b) 135° ¢) 43_” i
Quadrant: T Wir T
sin(8)  |.— ¥y + 20 — /5
cos{8) - 33/ — I3/ )
tan(d) |~ 13/, — F 3
cse(8) |- o + 2 — ) J3/5
sec(6) + 203/ -2 - 2
cot(6) |— 3 ~ + /33

3) Two forest rangers stationed 5.6 miles apart at points A and B in a mountain range observe the
same illegal campfire at point C some distance away. They measure angles CAB and CBA to be

46° & 55° respectively. How far 15{each ranger from the campfire? p e
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4) A pilot flew his airplane at a constant speed of 220 mph with a 120° heading. After one hour
of flying he changed the direction of his course to 72°. He continued in this direction for one and
one-half hours to reach his destination. How much farther was this flight than a straight-line 20

flight to his destination? - A, L E
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5) A fishing boat adrift at sea indicated its position as 18 miles S36°E from a coast guard station.
A coast guard patrol boat indicated its position as 15 miles S8°W of the coast guard station. How
far was the patrol boat from the fishing boat?

6) Fill in the following table about the parent functions.

Function Domain Range Min Max Period Symmetry | x-inter
Sin =) |[L1] Ve 1) | 3607 | ovipn |0 Frse
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7) For the following trig functions, find their period.
a) sin{66) b) 6 tan (E) c) —3co0s(106)
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